‘ S e R S e ﬂ‘“‘
34 :"-"LI’:‘h'é;eiitmenée, ‘I have been doing’ is - [CU (H) 07 08]
a) Present Indefinite Bj Present Continuous Ner

€) Present Perfect d) Present Perfect Continuous S
35. Could you please help me? Here ‘could’ is used as — [ErPTRAT @ S I FAFET-05]

‘Would you mind having a cup of tea’ is a sentence in- [RU 09-10, 10-11]
a) Present tense b) Present continuous tense
o) past tense d) past continuous tense

T, ©meT 1 ST & F0 present/Future Tense @7 At past tense JI7© I |
Would (will @ past form) you lend me some money, Please?
Could (can @9 past form) you tell me the time, Please?

Ans:c

 Active voice @ﬁtm@ﬁm passive voice @ AR<EE T =A |

© Active voice @3 object f8 passive voice «= subject 27 | Active voice 4 object f&
personal pronoun X passive voice @ OIF subjective form JIRIT FACO F |
@I: me A I, him A5t He, her 415t She, them 215t They, us 26 We 297

@ Active voice ¥ tense a3k object (passive @9 subject @ fRFT) WP auxiliary verb ICT |

© I verb U7 past participle/V; 28 €32 O #tg AYFS by 0T | OIS, appropriate
prepositions ST V3 &3 *fTF to, with, at, in, about Fe5f% prepositions IS A |

© Active voice 99 subject f& passive voice @9 object 27 @2 Active voice @9 subject &
personal pronoun X passive voice @ by/to/with/at/in/about 5% @3 %t objective
form I3 FACS =W | (@: | AT me, He A1=6eeT him, She A< herr, They 4=Fe=T them,
We 135CT us @17t | T8, preposition @3 =1t ¥§712 personal pronoun &% objective form I |
Active: He likes me. Passive : I am liked by him.

1.  ‘Heis known to me’ is an example of- [FFe @ freenizwfy wfivere frvemzs-o]
a) compound sentence b) complex sentence

g active voice d) passive voice Ans:d

[ffes Taerere e wet-35)

2.  Select the active structure:
a) The tree has been uprooted. b) The door should be kept closed.

¢) I have lost my watch. d) My suggestion was not accepted. Ans:c
‘Tea is liked by common people.” This is an example of- [Gwzer 2fufmfie wreces 2750 sv]

3.
a) active voice b) passive voice
¢) quasi-passive voice d) double passive voice Ans:b
4.  ‘The work is done by Medha’- This is an example of- [Ffrara B Frf-su]
a) active voice b) passive voice
¢) quasi-passive voice d) not any voice which are mentioned Ans:b
5. ‘Rice sells cheap”’ is- (e et e s e g Tt 2foms-s]
a) Passive voice b) Active voice ¢) Both d) None Ans:b
6.  The sentence “This school was built in 1971” js [STSTT ATerT @IS HIFA AT FAEE-3¢]
a) pasttense  b) past indefinite ¢) passive d) past perfect Ans:c
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R Active voice @ object ¥ passive voice 97 subject WWWW‘F ‘{Cﬂ"ql

IR, WETF object (4 singular T WA plural RO IRE A | : &
@¥=: the + adjective (the brave, the rich, the poor, the old, the lazy), mice (mouse dﬁ plural)

‘adjectlve + people (idle people, common people), the police X |

i

‘-;

Active : We don’t like idle people. Active : Fortune favours the brave.

Passive: Idle people are not liked by us. | Passive: The brave are favoured by fortune.
Active : Cats kill mice. Active: We informed the police of the matter |
Passive: Mice are killed by cats. Passive: The police were informed of the matter. |

mm Verb R Active voice & Passive voice @ ®1@7 | [V;= past participle] |
Active : Subject (Agent-Fe F=m=3H) + verb + Object. ’
9T verb W3+t do/does/did + not ST, A e/es/ed WA WIS V, ATF |

Passive : Object  Subject =¥ + (am/is/are/was/were) + V3 + by + Subject 5 Object =7 |

N.B. Actlve voice {0 Present tense Zta am/ls/are 93 Past tense Z6T was/were RS

7. ‘Al his pupils like him.’ BT 2% passive form =
[RU 07-08, iz T firws (sm)-do, mm%w%ﬁwﬁ% »8, fadioe fp Ao GO Reoima-1s]
a) He is liked by all his pupils. b) He was liked by all his pupils.

c) He is like by all his pupils. d) He is being liked by all his pupils. Ans:a
8.  ‘Weread novels’ — passive form voice : [sfear Aifiemer wfiverEa Afam e AfmiHe-st, 0]

a) Novels is read by us. b) Novels are read by us.

¢) Novels is read by we. d) Novels are being read by us. Ans:b
9. A race was run by him. (Aot IIZIAT S AT THAACH S AZTS-55)

a) He run a race b) He ran a race

¢) He is to run a race d) He runs a race Ans:b
10. A song was sung by Rupa. (Change the voice) [RU 08-09, BSMRUST (A) 14-15]

a) Rupa was sung a song. b) Rupa sings a song. sing —sang - sung

c) Rupa sang a song. d) Rupa sung a song. Ans:c
11. Choose the correct passive voice of ‘BBC broadcast the breaking news.”

a) The breaking news is broadcasted by BBC. [CU (D3) 15-16]

b) The breaking news were broadcasted by BBC. [emifi T fres-sb]

c) The breaking news was broadcast by BBC.

d) The breaking news are broadcasted by BBC. Ans:c

24T, &ry @we sentence & past indefinite tense @ WITE €3 news FW3 singular RGN I97©
T 4% @7 407 auxiliary verb ZGita was 1 | o, broadcast @3 Vpp/V; =t broadcast
12. The best passive form of the sentence: “We don’t like idle people.” [17* BCS, c@mmema
Tievena-33, RU (F1) 11-12, Medical 14-15, BSMRSTU (E) 16-17, MBSTU (C) 16-17, CU (A) 18-19]
a) We are not liked by idle people. b) Idle people are not like us.
o) Idle people are not liked by us. d) Idle people are not of our liking. ~ Ans:c

13. Identify the correct passive form of ‘Fortune favours the brave.’ [SUST (B) 08-09,
KU (BBA) 11-12, et enfia szl firsa (c@re-wei)-so, U (H) 13-14, 7=3id w&-5, BSMRSTU E 19-20]

ﬁ_] The brave is favoured by fortune. b) The brave was favoured by fortune.
g) The brave were favoured by fortune. @) The brave are favoured by fortune. Ans:d
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14. 'I don't like puffed rice.' The passive voice of the sentence is: [RU (A, =1%) 14-15]

W) Puffed rice not liked by me B) Puffed rice did not liked by me

B) Puffed rice was not liked by me d) Puffed rice is not liked by me Ans:d
15. What is the correct passive form of the sentence ‘Shirley paid the bill’? [mofie ==

i} The bill was paid by Shirley b) The bill paid by Shirley Pree-ou]

€) The bill is being paid by Shirley d) The bill has been paid by Shirley ~ Ans:a
16.  Cats kill mice. Make it passive voice. [FreA1Rt AAT (= feEfE)-oc)

a) Mice is killed by cats. b) Mice are killed by cats.

€) Mice have been killed by cats. d) Mice are being killed by cats.
Am/is/are/was/were +V,+ing + Object 7% Active & Passive @ 7@, | ,
Active : Subject + am/is/are/was/were + V,+ing + Object. - ;
Passive : Object & Subject 20 +am/is/are/was/were + being + V; + by + Subject 5 Object 28
N.B. Active voice ¥ Present continuous 2z am/is/are @32 Past continuous %0 was/were Risl J
17. Change into passive: ‘The city planner is making all the arrangements.” [ a7

a) The all arrangements have been made by the city planner. (WF#=12)-53)

b) All arrangements are making by the city planner.

¢) The all arrangements had been making by the city planner.

d) All the arrangements are being made by the city planner. Ans:d
18.  Mukti is writing a letter. Make it passive voice. [E~s first wfe-08, MBSTU (D) 14-15]

i) A letter is being written by Mukti. b) A letter has been written by Mukti.

¢) A letter was written by Mukti. d) A letter has written by Mukti. Ans:a
19. Choose the active form of the sentence —

The cheques are being signed by the manager. [JnU (D) 13-14]
a) The manager is signing the cheques. b) The manager signed the cheques. Ans:a
¢) The manager was signing the cheques. d) The manager has been signing the cheques.

_Ans:b

20. The passive form of ‘They were flying kite;. [RU (E, R=rs) 13-14]
a) Kites were flown by them. b) Kites were being flown by them.
¢) Kites were being flowing by them. d) Kites was being flown by them. Ans:b

m Have/Has/had + V3 % Active voice (¥ Passive voice @ TS|

Active : Subject + have/has/had + V3 + Object. .
Passive : Object 6 Subject 27 + have/has/had +been +V; + by + Subject % Object =¥
N.B. Active voice f Present perfect 205 have/has 932 Past perfect 21 had 307 |

21. I had written the letter.’ af6a Passive form ¥ [ st firess-33]
a) The letter was written by me. b) The letter had been written by me.
¢) The letter was being written by me. d) The letter was wrote by me. Ans:b
22. Chapal has made tea. Make it passive voice, [Srresr forst wf@ei-08)
a) Tea is being made by Chapal. b) Tea has been made by Chapal.
¢) Tea was being made by Chapal. d) Tea have been made by Chapal. Ans:b
23. A storm has uprooted the tree, (Select the passive form) [T ST et wiFTa-08]

@) The tree has been uprooted by a storm, m The tree is uprooted by a storm.
'p) The tree has been uprooted for a storm, @) The tree has uprooted himself. Ans:a
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24.  Change the voice: “He has pulled down the curtain.” [Wﬁm-oo]
a) The curtain had been pulled down by him. b) The curtain has down by him.
¢) The curtain has been pulled down by him. d) The curtain pulled down him. Ans:c

§ Have/has/had + been + Vi+ing + Object T& Active voice & Passive voice @ ?ﬁ"fmn
Active : Subject + have/has/had + been + V) +ing +Object. !
Passive : Object & Subject & + have/has/had +been being +V; + by + Subject & Object z7 |
25.  T'had been doing the work for five days. Change the voice. [RU (F, wraifeter) 15-16)

a) I had been done the work for five days

b) The work had been done by me for five days

¢) The work had been being done by me for five days

d) The work had been doing by me for five days Ans:c
§ Shall /will +V, (base form) I& Active voice & Passive voice @ #1&7 |
Active : Sub+ shall/ will + V| + Object.
Passive : Object  Subject =7 + shall/ will + be + V; + by + Subject & Object =7

26. ‘I shall do the work.’ I/ Passive form x3 [erefir =1dt ferss (Afecarat)-so]
a) I shall be doing the work. b)' The work may be done by me.
¢) The work will be done by me. d) The work would be done by me. Ans:c
27. ‘You will be helped by me.’ 7 Active form LS [2rfiT 2t firees (»ra)-o0n]
a) I shall have helped you. b) I should helped you.
¢) I shall help you. d) I shall have helped you.. Ans:c

Shall /will + be + (V, + ing) = Active voice & Passive voice 9 967 |
Active : Sub + shall/ will + be + V,+ing + Object
Passive : Object {6 Subject = + shall/will + be + being + V; t by + Subject & Object =@

28. ‘I shall be teaching him.’ Ifg Passive form 2= (&R e freeoy]
a) He shall be taught by me. b) He will be taught by me.
¢) He shall be being taught by me. d) He will be being taught by me. Ans:d
29. ‘We shall be taking tea.’ 357 Passive form 23 [ s fres (Rewrn)-so
a) Tea will be being taken by us. b) Tea shall have been taken by us.
¢) Tea should be being taken by us. d) Tea should be taken by us. Ans:a

m Reflexive Pronoun 3% Active voice & Passive voice 9 e |

Reflexive pronoun (himself, herself, myself, themselves, ourselves etc. ) T Subject zW 7M1
©IZ 9tvg Active voice 209 Passive voice FF 5 Subject ¥ @ object 97 I wofew e |
Active : Subject + verb + Reflexive Object

Passive : Subject w#faaféw + tense wapmit Auxiliary verb + V5 + by + Reflexive Object

30. He killed himself. What is the passive form? [IU 04-05, 10-11]
a) Himself was killed by him b) Himself would be killed by him
¢) He was killed himself d) He was killed by himself. Ans:d
31. The passive form of the sentence ‘Lila fans herself,’ is — [erF-aimefia o1z: frss-30, RU 04- 05]
a) Lila was fanned by herself. b) Lila is fanned herself, fan- oy 1
¢) Herself is fanned by Lila. d) Lila is fanned by herself. Ans:d
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Reciprocal pronoun T Active voice & Passive voice @ et
Reciprocal pronoun (each other, one another) @zt Subject 20 7 | 8% @@ Active voice 209

Passive voice %213 5w Subject @i object @ g SAfFafEs a0 |
Active : Subject + verb + Reciprocal Object

Passive : Subject 5fRafes + (ense s Auxiliary verb + Vy ¢ by + Reciprocal Object

32. T'“E." love each other. (Find out the correct passive form) [RU 05-06]
;‘ Ifacl1 other are loved by them. b) Each other were loved by them.
©) Each other loved by them. d) They are loved by each other. Ans:d
3.

They married each other. The passive form is --
a) They were married by each other

€) They were married each other

[1U (C) 13-14]
b) They got married

d) They had been married by each other Ans:a
Double object 4 ettt object @ subject fwma szt #77 active voice (3 passive

voice @ TR T W | vreers give, send, show, lend, pay, promise, refuse, tell, bring, buy,
pluck, make 211 verb et cra v object #7a5T 27 |

Active  : Subject + verb + indirect object (31f#a15%) + direct object (FF45%)
Passive-1: Direct object + Aux. verb + V, + indirect object + by +subject

e, Direct object + Aux. verb + V; + to (/@5 3a1%7) + indirect object + by + subject
Passive-3: Direct object + Aux. verb + V3 + for (a#7 g21#) + indirect object + by + subject
e, Indirect object + Aux. verb + V3 + Direct object + by + subject
34. He has given me a book (into passive voice) [PUST (B) 13-14]
a) A book was given to me by him. b) A book has been given to me by him.
¢) A book has given to me by him. d) A book had been given me by him. Ans:b
35. Passive form of ‘He gave me a pen’ is — [RU == 07-08]
a) A pen was given to me by him. b) A pen is given to me by him.
) A pen was being given to me by him.  d) A pen is being given to me by him. Ans:a
36. “The cow gives us milk.’ 2767 Al passive T3I- [2afirs wged frwa-yo (ST wPT)]
a) We are being given milk by the cow.  b) We were given milk by the cow.
¢) Milk is given to us by the cow. d) Milk is being given to us by the cow. Ans:c
37. The passive voice of “He made us work.” is — [RU 02-03, IU (G) 15-16]
a) We was made the work by him. b) Work was made by him for us.
¢) Work were made by him to us. d) We were made the work for him.  Ans:b

fe¥ made «¥T causative verb 2, a5 passive voice TE- We were made to work by him.
Passive &% (%08 ¥4 7 by 0 1, 49 by «q “fq4t€ ST preposition GIN to, at, with, in
e 9wne “@ | Annoy, Charm, Displease, Dissatisfy, Marvel, Please, Shock, Stun, Surpnise,
Vex Fenfn Verb «a past participle 9% %1f& (person) 9IFG with 307 Q3% WHAT (conduct,
behaviour), ¥ (work), & (beauty) <1 GHICAI s, SBAT 41O at 07 | B0, LT WO/ (T
ot 311 4 with fce 2 1 Active: He annoyed me. Passive: | was annoyed with him.

Active: His conduct annoyed me. Passive : | was annoyed at his conduct

1% The correct passive voice of *He pleases us’ is— [@r-zive #g: fws (swen)-18, 1U (F) 17-18)

a) We arc pleased by him. b) We were pleased with him, BSMRSTU E 18-19
¢) We are pleased with him. d) We will be pleased by him. Ans:c
. mwewe
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e (PasSIVE)

n
His behaviour surpriscd.mlr ‘
R) 1 surprised at his bchnvll i
&) 1 had been surprised at his
Which is the correc oy,
) We were pleased l’)’
) We were pleased with the | (.'m.m?
Which one is the correct voice
B) 1 was charmed at her bcaut{.
§) 1 was charmed for her beauty. ot
He annoyed me. (Select the passive form) .}
R) 1 was annoyed by 11111.1.
©) I was annoyed with him.
Change the voice: His conduct annoyed

Choose the correct form of voice,

#) He annoyed me with conduct,

€) I was annoyed from his conduct,
WIS Passive voice @ cover, crowd, cra
% past participle €3 %t by @7 sifires
Active : Paint covered the lock.
Contain, embody, include, Subsume Swyifs; v
Give the correct Passive form of “My teac

39,

40.

41.

me,
by I

]

With 367 |

4.

4s.

i

©) [ was seizeq by panic,

Smoke fills the room. Which is the passi
2) The room ig filled by smoke.

46.

o

RRE A P — kno
FT) A man is known by
The correct passive voice of
TUB 08-09, eefis eiqp farFa-ys,
a) Is they know by you?
€) are they know by you?
Choose the correct passive voice:

Wn 99 AtF by 6 |

47.

48. ‘His beh
worried about his behaviour h) w

a) We were b)
' worried by his behaviour, @) w

€) We were

[ettafir TR FrEs-ss, (W’T’ﬂ)-bo, 54-@1-;%
b) 1 was surprised with his pe
d) I was surprised at hig beha
¢ ¢ form? "The boy pleased us.' (el -etrorfires

t passive forn l)i We were

'pl) We were

i)) I ' was charme
h) I was charme

d) I was annoyeq

[Rifeq s

as ann
’ Omament, fil

Passive . The
erb gy Passive
her em

b) T was being
d) I was seized
ve form of the
b) The room is filled in smoke,

€) The room is filled at smoke. d) The room is fi
m Passive voice @ known @z A ANRES to o R w
the company he keeps. (T (et
‘Do you know them’?
s Semar frpe (T -0,
b) Are th

d) Are the

haViOUr- ‘“]

Vioyr,
84
pleased at the boy. ﬁfw(%).sa]
pleased tq the boy.
(i
d by her beauty_
d to her beauty, Ap
[0 T oy -8
y Sy,
against him,
[RU 09-10, eftsqmg REE I b
TRER
PIEFR A3y,

Oyed with hjg conduct,
4S annoyed at hjg conduct,

R

“og]

Ang;
3]
W—Q\:]

Ans:d
8 XM verp

lock wag Covered with paint,
form ¢ jp T |

Ans:b

(Ju (A) 10-11, )SWﬁmﬁm_y‘]

seized by Panic.
from panic.

sentence?

Ans:a
[Tt et
(aﬁ&iﬁ)-oe]
lled with smoke, Ans:d
orried O3 *gx about Iy
is known by its fruits. Sl
T o1 37

@ A tree

“iferata et st sfsrwend-se, 39 BCS)
ey known to you?

y know with you? Ans:b

aviour worried us.’
(€=t cave Grceis wefafoa sreas) “Afabrers-

0e, ENF-elUfi ePA firwa (pfEwr, ST, A, ..)-de¢]
€ were worried with his behaviour. Ans:a
e have been worried by his behaviour
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i
d
]

UMY Active voice «% verb f group verb TT ®1 Y S preposition f& Passive volce.iﬂ

F4WIR past participle €% Y 7| : Wi, ‘
Active : Take care of your health. Passive : Let your health be taken care of.
Active : He laughed at me. Passive : | was laughed at by him.

49. Choose the voice: “All of his friends laughed at him”
[DU (D) 04-05, =% Naemwma SA sl Afsms-oa, JU (B) 1415, RU (E -ftsg) 14-15, BU (A) 15-16]
i) He laughed at all of his friends b) He was laughed at by all of his friends.
©) All his friends had laughed at him. ) All his friends were laughed at him.Ans:b
50. The correct sentence of the following: (17" BCS, InU (A) 10-11, @irs-emfi szt fores-30]
&) A new cabinet has been sworn in in Dhaka b) A new cabinet has been sworn at Dhaka
©) A new cabinet has been sworn by Dhaka d) A new cabinet has sworn in Dhaka Ans:a
Swear in - /) I90 in Dhaka — 6| weet: This form must be filled in in ink.
51. The correct passive form of the sentence. ‘Take care of your health.” (FTZ/a T3 re)
_ [Medical 06-07, SUST (A) 09-10, RU (F1) 12-13, KU (C) 18-19]
a) Let your health taken care. b) Let your health be taken care of.
©) Let your health taken care of. d) Health is taken care by you. Ans:b
52. I knew him. Make it passive voice. [@efrafe e erEeR-oe, TR AGfrE AZFR frF-35]
;_) He 1s known to me. b) He was known to me.

©) He was known with me. d) He was known by me. Ans:b
S3. Active voice of ‘They were talked of by us’ is — [RU == 2fe=r= 09-10]

a) They were talked of. b) Talked to us

¢) We had been talk of d) We talked of them. Ans:d

54. My uncle looks after me. Passive form is-
[Sereemr- e e Feel-o, enfi & fres-3o, So, COU (B) 12-13, JKKNIU (3) 16-17]
a) I was looked after by me uncle. b) I am looked after by my uncle.
¢) I am being looked after by my uncle. d) I am looking after by my uncle. Ans:b
55. ‘He called on me yesterday.’ Passive of the sentence will be-
a) I was called by him yesterday. b) I have been called on by him yesterday.
¢) | had been called on by him yesterday. d) I was called on by him yesterday. Ans:d

Can, could, may, might, will, would, shall, should, ought to, used to, must ¥sjiw
modal auxiliary verb UeT® passive 4 (¥ AT =g |

Active voice : Subject + Modals + 3 verb @7 base form + object

Passive voice : Object + Modals + be + V3 + by + subject

56. The correct passive form of 'You must shut these doors.

[35" BCS]
a) These must be shut doors b) Shut the doors you must
¢) Shut must be the doors d) These doors must be shut Ans:d
57. We ought to obey our parents. (Change the voice) [RU (Wefe) 08-09, TU (H) 17-18]
a) Our parents are obeyed by us. b) Our parents were obeyed by us. Ans:c

¢) Our parents ought to be obeyed by us. ) Our parents was ought to obey by us.
58 “We must listen to his words,’- Aifox 5w AR voice T~  [eufire erm Frw (erm-o]

@) His words must be listened to b) His words should be listened to
¢) His words ought to be listened to d) His words may be listened to Ans:a
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59.  Change the voice: *‘We will not admit children under ten.’
. wAAsa-03, 1U (C) ]4_151

a) Children under ten will not be admitted by us.

il) Children under ten will be not admitted by us.

i:) Children under ten would not be admitted by us.

iﬂ Children under ten shall not be admitted by us. Ans:y
60. Find out the active form of the sentence

“Our parents should be respected by us” [KU (51: 71) 01.0g

a) We respect our parents b) We should respect our parents

©) We should honour our parents d) Parents should be respected by us  Ang:,
61. The correct passive form is: (S121 72 *1f$ Granrs sarst) [RU (=727, 73f=r) 07-08]

a) Broken cars are used to repair by them. b) Broken cars used to be repaired by them,

©) Broken cars used to be repair by them. d) Broken cars are used to be repaired by them,

i Ans:b Active: Sub. + used to + verb (base form) +obj. (They used to repair broken cars)

[ Passive : object + used to be + V; +by + Sub. (Broken cars used to be repaired by them)

*be going to” @7 passive € going 9T @IAT ARTET 7T | going to + be + V3 357 |

Active : Subject + be verb + going to + present form + object

Passive : Object + be verb + going to + be + V3 + by + Subject

62. Identify the correct passive form of “He is going to open a shop.” [NU (w+&=) 08-09,
26" BCS. &= sefie 5225 s (F1ZF)-do, (AM)-38, Are-2mfis Jza forms (Ffzm)-s¢, JUST (B) 16-1 7]

2) He is being gone to open a shop. b) A shop is being gone opened by him.

€) A shop will be opened by him. d) A shop is going to be opened by him. :Ld:
63. The passive form of “The Home office is going to renew my passport” is

a) My passport will be renewed by the Home office. [CU (+1) 02-03, (E) 12-13]

b) My passport is to be renewed by the Home office.
€) My passport is being renewed by the Home office.
d) My passport shall be going to be renewed by the Home office,

€) My passport is going to be renewed by the Home office. Ans:e
64. What is the correct passive form? [JnU (C) 10-11]

a) A house is going to be building b) A house is going to be built.

€) A house is being gone to build d) A house is gone to be built. Ans:b

65. ‘He is going to set up a school.’ qreifoq e Afa4fee voice zta- [=f 2 fopsas (sram)-o)
#) A school is going to be set up by him b) A school is being set up by him  Ans:a
€ A _SChOO]_ is gone to be set up by him d) A school has been going to be set up by him

Active voice 4 am to/is to/are to/have to/has to Tenfa ece Passive voice 9 am to/is

tofare to/have to/has to &7 47a be a1 g e A SICT 3T verb @ past participle form 907 | cawe:

Active : Subject + am to/is (o/are to/have to/has to + present form + object

Passive : Object + am to/is 1o/ar¢ to/have to/has to + be + V; + by + Subject

66. ::rre“ passifve form of “I have ¢ do it” is-[RU 03-04, DU 05-06, <ifirs ey farsas (cmemrsn)-on,
~F ACHT fopary (¥ve,... cil)-se, U (F) 04-05, (BBA) 15-16, I o1t S srea-ay]

a)) ;tt }l:as to be done by me, b) It is to be done by me.
£) 't has to be done to me. d) Let it be done by me. Ans:a
MASTER 396

CamScanner


https://v3.camscanner.com/user/download

67. ‘It has to be done by me’ #1217 = 4R voice TA- [emefies ert Froes (Mie)-03]
@) I must do it. b) 1 should do it. CU (A) 18-19
&) 1t must have done it. @) 1 have to do it. Ans:d
68.  You are to colour this picture, The passive form: [JU IBA 11-12, s Frsirs ot seise-35]
) This picture has to be coloured by you b) This picture is to be colour by you
&) This picture is to be coloured by you ‘) This picture is being coloured by you  Ans:c
m Active : Subject + modals (must/should/could/ought to) +have + Vj + object
Passive: Object + modals (must/should/could/ought to)+have +been + V; + by +subject
69. The passive form of the sentence 'A child could not have done this mischief.’ is
R) This mischief could not have been done by a child. [CU (B7) 14-15]
B) This mischief could not been done by a child.
©) This mischief could not have be done by a child.

@) This mischief a child could not have been done. Ans:a
70.  The correct active form of the sentence “It must have been stolen by him™ is—

a) He must have stolen it. b) He must have been stolen by it. [NU 06-07]

€) It was stolen by them. d) They must steal it. Ans:a
71. Choosc the correct passive statement of “You should have done it.” [RU 09-10]

a) You should have done it. b) It should have been done by you.

¢) It should have done by you. d) It would have been done by you.  Ans:b

Voice change of Imperative Sentences

T verb WET SF T Active voice (4tF Passive voice @ “f#ama fam:

Active: V; 4+ Object Passive: Let + Object + be + V,
Active: Do it/the work. (ab1/#T% atat)  Passive: Let it/the work be done. (aDT/TEGT T4 21F)
Active: Eat the cake. (@251 ¥18) Passive: Let the cake be caten. (@337 arewr cxre)

T 0w [mperative Sentence @3 tfe% It IRsfa wetfaard Somm @i oF et osw Let 71
9=t should be 21247 =2 Passive voice Fa 907 |

Active: Keep your word. Passive: Your word should be kept.
Active: Obey your teacher. Passive: Your teacher should be obeyed.
72.  “‘Obey your parents’ The passive form is - [IU (C) 13-14]
a) Your parents were obeyed. b) Your parents must be obeyed.
€) Your parents are to be obeyed. d) Your parents should be obeyed. Ans:d
73. Change the voice: Shut the door at once. [COU (B) 09-10, JnU (A, D6) 13-14]
a) The door be shut at once. b) Let the door be shut at once.
) Let the door shut at once. d) The door be shuted at once. Ans:b
74. Identify the correct passive form ‘Open the window’. [«fes=1 vy wibT s W00
a) The window should be opened. b) Let thcj window be opened.  [RU G 11-12]
¢) Let the window be opened by you. d) The window must be opened. Ans:b
75. Make the sentence passive: ‘Always speak the truth’ (U 10-11)
a) Let the truth be spoked always. b) Let the truth be spoken always.

d) Let the truth was spoken always.  Ans:b
397

¢) Let the truth had spoken always.
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76.  ‘Let him be told to go' change the volce is- [RU (mmm) 09-10, NSI @!mm
f) Go b) Let you go. &) You go. d) Tell him to go. Ang;q
77. What is the passive voice “Do away with it”?  [Dental 98-9?. - artfirs TEA s ("’f)—s-,'
&) Let it be done away with. b) Let it has been away w1'th. IU(G) 14, 5
&) Let it is to be done away with. @) Let it has to do away with " Ang
78, The passive form of the sentence “Tell him to go” is- [IU (3127) 04-05, RU 0919y
&) Let him told to go. b) Let him be told to go.
B) Let he be told to go. d) Let him tell to be gone. Ans:h
Do not ¥R ¥F T Active voice (4t Passive voice @ SRS fa: %

Active : Do not + ¥ verb «7 base form + Object  Passive : Let not + Object + be + V,
Active : Do not look down upon the poor. Passive : Let not the poor be looked down upon,
Object % pronoun T pronoun @ @@ not 307

Active : Do not hate him. Passive : Let him not be hated.

79.  The passive form of 'Don't do it' is— (3397 = fwe-38, RTB Ta1e1aa Sorizardt ety
a) Let not it be done b) Let it be not done BRUR C 16-17
&) Let it be done not d) Let it not be done Ans:.d

80. Mention the passive Voice, 'Don’t neglect the poor.' [RU (G) 14-15]
a) Let the poor be neglected. b) Let not the poor be neglected.
©) Let not the poor neglected. d) Poor don't be neglected. Ans:b

81. The passive form of the sentence ‘Do not open the door’ is- [orrE wfimara ool
;) Let not the door be opened. b) Let not the door open. et (Ffeer)-yr
©) Let not the door be open. d) Let not the door opened. Ans:a

Let + 3f&=m% Object (me, us, them, him, her) ¥t %% T Passive @ Fo@7
Active : Let + 5f&=% Object + V, (present form) + I8I16% object
Passive : Let + 382w object + be + V; + by + aifeane Object

€2. Let her sing a song. Passive form is-[emfi sizerd forwe (arep e fa®r)-ov, 38, RU (E, c=r9) 13-14, :
Medical 13-14, JU (E) 14-15, ﬁfﬂf%‘a’?ﬁm!lﬁﬁ-w]

&) Let a song be sung by her b) Leta song be sang by her b

€) Let a song sing by her d) Leta song sung by her Ans:a
83. Let me do the work. Its passive form is : [RU (go1m) 10-11, A2 19-20]

2) Let the work done me. b) Let the work be done.

€) Let me be done the work. d) Let the work be done by me. Ans:d
84. Let me write a letter, a93f5% Passive I- St vz faww wfedi-on, BSMRSTU A 12-13]

&) Let a letter be write by me. b) Let a letter be written by me.

€) Let a letter to write by me. d) Let a letter is written by me. Ans:b
(8 Never 5% Imperative Sentence 47 Passive @ w1197 ;
Active : Never + 39 verb «a base form + object (noun). Active ; Never tell a lie.
Passive : Let never + object +be + V;, Passive : Let never a lie be told.
. =9, Let + not + object + ever + be + Vs, W4, Let not a lie ever be told.
85.  'Never catch the Jatka.” Make it passive. [RU 05-06, IU (C) 14-15, BRUR C 16-17]

,?) Let the Jatka never be caught. b) Let not the Jatka ever be caught.

€) Never the Jatka be caught by you. d) The Jatka is caught by you. Ans:b
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@ Please &%t Kindly <%

e Imperative sentence <3 Active voice
oWHMﬂﬁGPrmpalmm

< Please =%t Kindly €= %R=t¢ You are requested t

= et W OF | Negative I 09T to €% X not T w77 Please/Kindly = 9CT€

== intransitive verb (Go there, Come here) 8 o T GRS T ﬂmmm'

e.g. Active: Come here. Passive : You are requested to come here. s

'!iﬁi?‘ Active: Prepare for the worst.  Passive : Be prepared for the worst. e 2]
86. Choose the correct active statement of "You are requested not to smoke.

a) No smoking is requested b) Please do not smoke [RU (%) 10-11]

¢) You need not smoke d) Smoke not is requested Ans:b

87. The passive form of the sentence ‘Enter the house by this gate’ is- [s32% zzw= TE-3¢]

'aj You are requested to enter the house by this gate. IU (H) 17-18
§) You should enter the house by this gate.
€) Let the house be entered by this gate.

Ans:a

d) Let the house be entered by you by this gate.
m Passive voice €% ¥T¢ You are requested to 40 active voice @ You are requested to

$E TT < transitive verb €¥ =0T &% please/kindly T

88. What is active voice of ‘You are requested to give me a cup of tea.’ (TU 10-11]
!_) Give me a cup of tea b) Let me give a cup of tea
¢) Please give me a cup of tea d) none Ans:c
89. You are requested to go there. Change the voice. [RU 05-06, 08-09]
a) Go there b) Go vou there €) Go d) Requested to go Ans:a

m Active voice € Imperam e sentence <% verb 'EWQI% object qFE passwe voice @ Let <z
<7 direct object (verb = & ¥ &% <= (% object S IF/AETS TEIHT) TIJF TS T AR

indirect object (verb (= 1= ¥ & ¥ (@ object e /AT DS ) 97 7K to

(E/=T5/75 ) %1 for (377 T3707) TITF 908 A | O1F to/for 7 IR TS 5 |

Active : verb = ind.object + di.object {Give me your watch-==1te (=15 Tig we}
Passive: Let ~di.object + be +V3 + to +ind.object {Let your watch be given to me.}
Active : verb + indirect object + di. object {Pluck me a flower- <=1 &0 a=5 = T}
Passive: Let +di.object + be +V+ for + ind.object {Let a flower be plucked for me.
90. Choose the correct passive voice of ‘Bring me a pen’ (U (fr)lz -13]
a) Let a pen be brought by me b} Let a pen be brought me
Ej Let me be brought by a pen d) Let a pen be brought for me Ans:d
91. The best passive form of 'Give me your watch.' is- [ fer=T =fe=@-5e, KU (S) 14-15]
a) Let your watch be given to me. b) Let your watch be given for me.
c) Let your watch is given me. d) Let your watch is given to me. Ans:a
92. Pluck me a flow er q¥I64 passive voice @H? [RU (I13) 03-04, 7212 =t Sxzw =eEi-19)
a) Let a flower be plucked me. b) Let a flower be plucked for me.
¢) Let a flower plucked for me. d) Let a flower be plucked by me. Ans:b
93. The passive form of ‘Bring me the book’ is- [IU 09-10]
a) Let the book be brought for me. b) Let the book be brought by me.
¢) The book is brought for me. d) The book is brought by me. Ans:a
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T ative Sen Passive § o R
e imperative Sentence ¥ m\
Spresd & put’ J;WT; :r::, At 901 el Past Participle 35, Hay&
X e

o o 4 | O Object “:\: areérgaine)  Passive: Have a tent pu here. A

. a tent here. (¢ iuddin & kasem - page 049 voice {
:‘:xt“;n::;?ﬁ“‘“‘ml Englg:a“;]l:::‘m - P.K. De .Sarkar @7 vojce ERe Wm lmﬁ gh,
A text book of Higher E“gl,"\h 3 ST QDT NI SHfcet)’ Passive of j is - R
«<pread @ mat on it (9 . IR [ U(%mﬂ'ﬂ)o
04, ‘Spre ¢ should be spread on it.  b) A mat shoulg have beep Pread op i b 3-0g)
g :;‘:t pscrtesd onit, _ 9) Have a mat spreqq on it.

m Do/Does/Did W31 & Interrogative sentence ¥ Passive T Ang;g

Active : Do/Does/Did + subject + verb (base form) + object 9

Biive - am,'i&/amlwas/wem 8 object +V 3+ by ~ Sllbj ect +2 [DO /DOES

95. The passive voice of ‘Did Samira do the worko: is— o Mi/are)
a) Was the work by Samira done? b) Was the work done by Samira? U () I5-1)
€) Is the work done by Samjra? ) Was not the Work done by §arm:i- o

9. Does he speak English we|}2 IR Passive T [y, © 0)&0:11“2;5 Ans:h
a) Is Enql.lsh spoke well by him? b) Is Englisp, Spoken wel] to him?
©) Is English spoken well by himp d) Was English spoke well by .

97. Changing the Voice: Do You want mpe9 [IU 10-13 :ﬁ%;m \ ) Ans;¢
2) Am I wanteq 10 you? B) Am [ wapt by you? R R G
€) Am I wanteq by you? d) Am I want 14 you? :

98. gh\(;)assetthlleb%zsksir\lroetfr:l;l l;lf ‘Dig yl?u\{ert read the'book? [RU%I;.S(;]
 Did thy book Y'You? b) Was not the book read by you?

d) Did not the book read by you?

» IOt AAZ =€ pronoun az T Rge 77
Does he read books? [a‘.‘aﬁs’?m?rﬁ“&]
2) Does books read by him? b) Books are reaq by him?
tic €) Are books read by him? d) Is books read by him

Ans:c
‘Did you eat the Mango?’ The passive form is. (72 TRRSTR-00, v e e

?)_ The Mango was eaten by you? b) Was the mango eaten by yoy? BSMRSTU F 1819
¢) By you was the mango eaten? d) Was the mango by you eaten? Ans:b
m ative sentence Passive w217 fiam:
-ing + object +2
Passive: Am/Is/Are/Was/W ere + object + being + V+ by +subject +? :
hlmz ‘Is he eating fruit?’ q=fSe wye passive 33- (S srerd fore (arepen® Rrom)-o¢)
a) Is fruit eaten by him? b) Is fruit being eaten by him? :
r(j.) Is fruit eating by him? d) Is fruit be eating by him? Ans:
Who I% Interrogative sentence & Passive w2 fm:
Passive: By/To/With whom + auxiliary verb (tense SR + subject + V;+2?
or, Who + auxiliary verb (tense S + subject + Vi + by +?
D N.B. auxiliary verb 2% == e subject a7 < 3z /TSl subject 9% F ITT )|
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102. The passive of "Who taught you French?” fs- (10 1 0991, £ 0142, OO D 12.13, 41" BCS)
By whom you were taught French? b) By whom French was taught you?
French was taught you by whom? d) By whom were you taught Frenc? Ansid
103. Passive of “Who taught you English?” js - otan e emns (I AT, PA T4
#) By whom you were tzught English?  B) By whom English was 10 tzught you?
8 English was tzught W you by whom? @) By whom were you vaugt English?Ans:d
104, Pawive of “Whe gave you this pen’ is —onfan zrx womn sy 72, omn. ., gonpifin 7z, Sz 2]
3) By whom were ¥Ou got this pen b) By whom were you given this pen
€) By whom have ¥ou been given this pen @) By whom was yougiventhispen Ans:b
105, Pawive form of “Whe will do the work?” is - 124™ pes, 11 S Lf, wrlan rea emg.ye ss,
Ei’e UR (D) 1415, enovtan von oms (27 p 2, RIC) 1637, 501 (C) 16-37, MBSTL (D)) 16-17]
&) Who will done the work? b) Who will be done the work?
€) By whom will the work be done? d) By whom the work will be done?  Ansc
I, The correct passive form of “Who has written Hamlet?” is - R (BAzw) 12-13]
8) Hamlet has written by whom? b) by who is Hamlet written? (51 (4) 13-14]
€) Who has Hamlet been written by? d) by wihom Hamles is writen? Ans:

107, Who is calling me? (Passive ) Meticz] 1516, sres Soms mmnis | UGEN) €2 ¥ordiforase)
2) By whom zm | called?

; kK b) By whom I zm called? PUST(C)16-17
€) By vwhom | was called? d) By whom am | being czlled? Ansd
Y(" fe- H 7l * ’v .. "
107, The correct passive form of “Whe killed the bird’ is— 21 (Frzm=7) (3-10, (B) 15-16]
$57rL . 4 € - -
a) Who wazs killed by the bird? b) Who wzs killed the Bird?

G R e LA Yn TieiT) i = 1

€) Whom was killed by the bird? d) By whom was the bird killed? Ans:d
Whom 7% Interrogative sentence o Passive =7 Gz
Passive: Who + auriliary verb (tense =y + v, +by+ object 7

105. Whom do you want? (Passive form) RIS, e S oy 5w vy

8) VWi is wanted by you? b) Who is wamnted by you?
M By whom are you wanted? d) By whom you zre wanted? Ans:b
110, The passive form of ‘Whom does he Jove’? is (01 (5510, 10 (D) 17.1%, 00510 D 1519]
#) Who is loved by him? b) Who wzs loved by him? JUST C 16-17
€) Wi pad e e d) Who loves him? Ans:a
1110 "Whom did she accuse?’ Choose the right passive voice. ‘svzes zymrs zosics it 3]
8) Who was secused by her? b) Who had been zecused by her?
€) Who was being accused by her” d) Who has been accused by her? P
What 5% Interrogative sentence & Passive 2272 #7w:
Active : What + do/docs/did + subject + verb+?
Passive : What + am/is/arc/was/were + object + V3 + by + subject 47
Active : What + verb + object+? Passive : By what + aux. verb - object + V3 +7?
11Z. The best passive form of the sentence “What do you want?” (DU (D) 11-12]
a) what was wanting by you? b) What is wanted by you?
€) what was wanved by you? d) what is wanting by you? Ansb
117, The eorrect passive form of ‘What made the noise?” is- (ll,:(ﬂar, 0506 MESTU(D) 14-15)
a) By what was the noive made” b) By what the n()le: was nudc" -
€) What was made the noive” d) What was the noise made? Ans:a

MR st 401
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[T Why/When/When/How Wt % Interrogative sentence 0¥ Passive W P A
Active : Why/When/Where/How + auxiliary verb + subject + verb +.0blc°t +? | A
Passive : Why/When/Where/How + auxiliary verb (tense m) + object + V34 by +sub ‘f?.?
N.B. auxiliary verb 786 w1 b subject @x et @ fadtafl subject @ «fo 4o '. !
114, Change the voice-*Where did you see him?”’ [+ fgrstmt @iea (AD)-su, efafirs TR 0]

a) Where did he seen by you? b) Where was he see by you?

¢) Where was seen by you? d) Where was he seen by you? Ans:q
115. How can you do this? 359 Passive form RS- [RU 04-05, cafer: capra: efrelfirs fermp (117T)-33

a) How this can be done by you? b) How could this be done by you?

€) How can this be done by you? d) How this could be done by you?  Ang:c
116. Choose the correct passive form: “Why did your brother write such a letter?”

a) Why was such a letter written by your brother? [RU 06-07, JnU (D) 17- 18]

b) Why such a letter was written by your brother?

) Why such a letter was written by your brother.

d) Why was such a letter been written by your brother? Ans:a
I17. What is the passive form of ‘When did he finish the work’? [COU 09-10]

a) When the work was finished by him?  b) When did the work finished by him?

¢) When was the work to be finished by him? d) When was the work finished by him? :d
Object+Present participle % Active voice & Passive voice @ €T AF Present
participle (v-ing) (3F sentence @3 SRE TN GARRRS s AMCF | O present participle @3
R TRTR passive form T AUTE | (N.B. by + object iy qitg ([l [ed)]
Active : ] saw him carrving a basket. Passive: He was seen carrying a basket by me.

passive W  WARRIET <y passive R §AAfIRfE Wiy |

118. The passive form of the sentence “I saw him playing football” iS-[@HBmW@Woﬁ]—

2) Football was played and seen by him.  b) He was seen playing football by me.

¢) Football was being played and seen by him.

d) Football was seen played by me and him., Ans:b
119. Choose the active voice of ‘He was seen by me carrying a basket.’ [1U 02-03]

a) I see him carrying a basket, b) I had seen him carrying a basket.

€) I saw him carrying a basket, d) He saw me carrying a basket. Ans:c

m Active voice 4 see, hear, make, help @i verb g object 9T “tT verb g base form
A1 Passive voice 4 @817 verb (base form) a7 “t4 Sy <t to w1ITe =7 |
Active: He made me drive his car. Passive: | was made to drive his car by him.

120. The passive form of the sentence “You made him cook rice” is- [yl fegrs vy
a) He was made to cook rice. b) He was made cook rice. ST - 33
¢) He is made to cook rice, d) He had made to cook rice. Ans:a

121. ‘He heard her sing.” The passive voice of (he sentence is [vwaag VUG mifie wfwst-yy)
a) She was heard to sing by him. b) She was heard sing by him.

¢) She was heard to sing. d) She was heard to be sung. Ans:a
122. The passive form of the sentence ‘I saw him go, [mrﬁmmﬁvww%ﬁm-oa]

a) He is seen to go by me. b) He was seen to go by me.

c) He is being go by me. d) He has seen to go by me. Ans:b
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123, Choose the right passive form of “1 hey made him tell them cwvcxfythin‘g.” [RU 09101

) He was made by them to tel] them everything. RIS TR )
: 3 He was made to tell them e everything. TR WY 0T TR R g I
E") He was made by them to tell everything to them,
h] Everything was made to be told them by him., Ans:b

ST &8 M They QR them @32 WREWaTe (1918 18 Passive & tell <= vmr* them & 30w |
(TSR A R R by them & oy firs 2za | !

Source: Practical English Usage (Oxford) ~Michacl Swan 418 (passives) make- , 418 P R OE 1
help, teach/taught + object @9 mﬁmtwe W passive 4 infinitive ﬁw%:m

faw help @z I base form Qe passive @ 1% ot to IV W‘i‘k to + base ﬁorm m;

W&Fﬂ‘ let - W passwe 98 to IET A AV: He let me go, AV lwas lex go  (by hml)

124, \\’hlch one of the follomno sentences is correct"

a) He was let go. b) He was let to go. oo 7 7%

¢) He was let going. d) He was !ettmg QO i Ansia

‘He helped me do it’. The passive voice of the sentence is- ﬁmwﬁ‘ 2 sm38]

a) It was done by him to help me. b) I was hel ped by him to do'i

) It was helped me by him to do it. dj I'was helped bv h m do it.
Actwe voice 9 adjectlve a3 mﬁmtwe ( Ve

«(ME | vem adjectwe a3 ‘ﬁa@r Wm passive fo 1

Actlve° Ifound it easy to do. Passxve. t was fou

s passwem wwﬁﬁw i

126. The passive voice of ‘I found it easv to do.
' a) It was found easy to do by me.

c) It was easy found to be done by me.
m call choose, elect make, name, nomina
voice ﬁmm 'ﬂ'f@‘ | WG T W=, Factitive objé
Actlve Subject + faCtlthG verb (past fonn) + objet;

¥R

(KU B 19-20]

125.

1i
a) He was elected chairman (by them). b) Cha :
c) Chairman was elected h1m by them |

Actw : Subject + -----f4- think + 1nd1rect Obj ‘
Passwe Indirect object + be verb (tense W

a) We thought him to be a teacher
¢) We think him a teacher
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129. Choose the correct active form ‘He is thought tO_ be a poet by th;"?; W[:;(E) 14-15)
R They thought him to be poct.  b) They think him to be a poet. L T ),

¢) They think to him be a poet. d) They think him be a poet. Ansffb
Quasi-passive voice: Complement & Active ¥ Passm.e q W ! ; |
count, feel, look, sell, smell taste, read, sound, write 271 Quasi-passive ver ST ofTa :

Complement QR @T7a passive voice NS L0 AT | :
Active : Subject + Quasi-passive verb + complement (adjective) i
Passive : Subject W3S + is/was + complement + when (it is/was) + past participle (V)
©13 Subject 5 plural T is/was @ FET are/were R it @F T they 2T | ;
130. Choose the correct passive form of the sentence: Iron feels hard.  [RU (H-Odd) 15.1¢)
raj Iron is hard by it is felt b) Iron is hard when it is felt
¢) Hard feels by Iron d) Iron was hard Ans:b
131. The correct passive voice of ‘The pill tastes bitter’ is — [ere-arefie 7@ fres-so, (e
@BN-3¢, RU (E) 14-15, I 3 S e (Bifws @) -de, =1t 51 Tiee (F7P1 Sfeia)-sb ]

a) The pill is bitter when it is tasted b) The pill is bitter when it was tasted

¢) The pill is bitter when it tasted d) The pill is bitter when it tastes Ans:a
132. Honey tastes sweet. What is the passive form of the sentence? [RU (D-31fre) 11-12]

a) Honey is tasted sweet b) Honey is sweet when it is tasted

¢) It is sweet when honey is tasted d) Honey is sweet to taste Ans:b
133. The passive form of ‘Rice sells cheap’ is — (517 817 {feF z7) [RU 08-09, 755781 Ij13-33]

a) Rice is cheap when it is sold b) Rice is sold cheap IR VAT SIS d¢-30

¢) Rice is being sold cheap. d) Rice is cheap when it is selling. Ans:a
134. Find the correct passive voice of the sentence ‘Roses smell sweet’  [z%% 5w Reor

a) Roses are sweet smelling which someone smells. TSI ST /A= 33]

b) Roses are sweet when smelt.

¢) Roses are sweet when we smell. d) Roses are smelling sweet. Ans:b

m Quasi-passive voice: Complement R Active & Passive 9 F%7 |

Active: Subject + is/are + present participle (verb+ing) Passive: Subject + is/are +being+ V3.
Active: The book is printing. (32fC 2/%f zt5%)  Passive: The book is being printed.

Active: The cow is milking. (*f6 74 fit®)  Passive: The cow is being milked. (-cerizT 7o)

135. The house is building. The passive form is— [rofis et fRrss-oy, wrcas%mnvqc‘u‘%->é]
a) A house is being built by us. b) The masons are building the house.
¢) It is the house which is being built. d) The house is being built. Ans:d

Active : It is time + to + verb (V,) + object e.g. It is time to do your duty
Passive: It is time + for +object + to be + V; e.g. It is time for your duty to be done.
136. ‘It is time to shut up the shop.’ (Gl <% w41 777 zeace) The passive form is- [RU 07-08]

a) It is time for the shop to be shut up. b) It is time to be shut up the shop.

¢) It is time to shut the shop up. d) It is time the shop be shut up. Ans:a
Active @ There +is/are/was/were+ something to do 91T passive 4 to be done ¥5® TI
Active: There is a lot of work to do. Passive: There is a lot of work to be done.
Active: There is no money to waste, Passive: There is no money to be wasted.
Active: There is no time to lose, Passive: There is no time to be lost. ;
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ﬁms of things to do’ (WWWW)
The passive form of the sentence above is- [RU 05-06, IU (B) 14-15]
a) There are lots of things to done. 5) There are lots of things to be doing.

©) There are lots of things to be done. d) None of them. Ans:c
Passive voice of Com[ lex sentence e

‘Complex/Compound sentence 9 TAMIIR % transitive verb T @ Teafeel voice
S{fFRET AT T | ST, QTR sentence @ WA that, how, when, since Foplfir A | 92 o
voice €T w2 faT Passive T A Qg | SN forerr: RS ALHF it WA |
Active : We know that Columbus discovered America. (=it)
m It is known to us that America was discovered by Columbus.
3 f: ey Rt SR voice e 0T | TGSt AL w@% transitive verb ¥eCe T
That America was discovered by Colu
fg ¥ weedt Transitive verb = AT 1R

RETNT @ IO [ | (TA:

mbus is known to US.
S voice AfRSH 2 Al | GO szt clause 5% subject

I know what he thinks. What he thinks is known to me.

138. What is the active voice of “It is known to me how it was done by him.
. [Medical 04-05, KUET 05-06, HSTU (C) 14-15]

a) I know how he has done. b) I knew how he has done.

fc) I knew how he did it. d) I know how he did it. Ans:d
139. The passive form of the sentence "Do it as I say" is [ﬂ:amfr@ﬁﬁ!%‘iwww-ﬂl
a) Let it be done as is said by me. b) Let it be done as I say. [Sow T fAaF-38]
Ans:b

d) Be it done as it is said.
. “Lord knew what they cost” [IU (g, %) 04-05]
a) What they cost is known to Lord. b) What they were cost was known to Lord.
¢) What they are cost was known to Lord. d) What they cost was known to Lord. Ans:d
141. ‘I know that he did the work.’ e e Affafee voice I- [eirafir e fres-o]
a) It was known to me that the work was done by him. - AEE e (TA)-38
b) It is known to me that the work was done by him. eirr-2ifalfir et e (IETAral Gion)-d0

me that the work has been done by him.

¢) It should be done as [ say
140. Which is the correct passive form of

¢) It is known to

d) It was known to me that the work had been done by him Ans:b
142. Which one is the correct passive form? (2 AR SR 8 “{faara FEH SATET-0,

a) Two criminals were punished and one released. AT Ff -3, JnU (A) 12-13]

b) Two criminals were punished and one was released. first e Sfimerd SibT aff WATTHA-D

¢) Two criminals were punished when one released. T RS (BT WARDA-0

d) Two criminals were punished while one was released. Ans:b

Passive voice @d complex compound sentence @ & fo7 number 4 vt subject a2
et e auxiliary verb St@md ¥4t 78 | Two prisoners were fined and

transitive verb 4T
hile + past continuous- @ St d Ha® 7 1)

s released. (past indefinite + w

one wa

143. The passive form of 'People know that the earth is round' is — [CU (A) 07-08]
a) Itis known that the earth is round. b) It was known that the earth is round.
¢) It was known that the carth was round. d) It is knew that the earth is round.  Ans:a
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144. I cannot depend on what you say. Passive from of the sentence- m
Qlj’ What you say cannot be depended by me. mﬁmﬁ_‘gmtw
i)) What is said by you cannot be depended on by me. of e My

©) I cannot depend on what is said by you.

d) What is said cannot depended on by me. | . Ans:p
AEIe One, No one, Nobody, Everyone, Everybody g9t Indefinite pronoun o
Passive voice 9 ¥ 717 | ]
145. Change the voice of "One should keep one’s promise',  [&PrUT 6 77 T Fadi.qp

HSTU (C) 14-15, NBR @3 sz@1d arery #wi-3¢, NSTU (C) 14-15, 15-16, RU (F-wifa@r) 17-18]

a) One’s promise should be kept. b) A promise should be kept.

£) One’s promise should be kept by one.  d) Promise should be kept. Ans:b
146. The passive voice of ‘One should take care of one’s health.’ [RU 01-02]

5)' One’s health should be taken care of. i)) One’s health should be taken care of by one

c) Health should be taken care of. d) Health should be taken care. Ans:c
147. Find the passive voice: Somebody should have called the president this morning,

a) The president should have been called this morning. [T (ST, 3T @f)-s¢]

b) The president could have been called this morning

¢) The president might have been called this morning

d) The president could be called this morning Ans:a

148. The correct active voice of ‘That house has not been lived in for years’ is -
[DU (D) 05-06, (IER) 07-08, COU (B) 13-14, RU 05-06, (E, fteg) 14-15, NSTU (C) 15-16]

z—;j No one has been living in that house for years.

b) No one ever lived in that house for years. fefbre AT &6 =rar swf |
¢) Nobody has for years lived in that house. |
d) Nobody had been living in that house for years. Ans:c
149. Change the voice of ‘Nobody knows him here.’ [IU B 05-06, HSTU C 14-15, BRUR B 16-17]
a) He is known by nobody here. b) Nobody known him here. RU (G2) 17-18
¢) He is not known here, d) He is not known to nobody here. Ans:c
150. Which one is the active voice of ‘He is not known here’? [IU (H-Law) 15-16]
a) He is known here. b) Nobody knows him here. JKKNIU (%) 17-18
€) Everybody knows him here.  d) Somebody knows him here.. Ans:b

m People ™ Active voice @7 Subject ¥ w3 @ Passive voice 9 AR Sty fire =37 | ;

151. People alrways remember the patriots. Which one is correct passive.
[15% §cs, G AGE G Fa¢T @ erbrae f#F-08, RU (rrer) 09-10, KU (BBA) 13-14, »v fitera
(rz1a wren)-38, JSTU (A) 14-15, JU (C8) 15-16, KU (S) 16-17]

a) The patriot will always remembered by people. T ot 4wt Tt ARl 2

b) The patriots are always being remembered. Tt WA TC AT =TT

¢) People are always remembered by the patriots.

d) The patriots are always remembered. Ans:d
152. fl‘he_pas-sive .form of “The people in Asia mainly eat rice” is — [IU 09-10]

a) R}CC a8 mainly eaten in Asia b) Rice is mainly eaten by Asia.

c) Rice 1s manly eaten in Asia, d) Asia is mainly eaten by rice. Ans:a
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m:wamr Passive voice Witg 1@ Active voice FA0S T AWeETef Subject & mﬁwi:l l‘
Passive: The house was burnt, (2% =w ct71) Active: Fire burnt the house.

I, WYY WG FIEACS A AT #N1ta 57 @aomiia Seas (NGws A" |

‘Passive : Rome was not built in a day. Active: The Romans did not build Rome in a day
I, IR (G SifS) cany wordt st eafisr | [wrgaret, s{fert caram aea, #Hffefe ang ]
Passive: The thief was arrested. Active : The police arrested the thief.

Passive : | was compelled to do it. Active : Circumstances compelled me to do it.
Passive : Bangla is spoken in Bangladesh. Active : The people in Bangladesh speak Bangla.
Passive : The house was blown down. Active : The storm blew down the house.
Passive : Our army has been defeated. Active : The enemy has defeated our army.

153. “The hut was burnt to ashes.” The active voice of the sentence is- (KU (7= 1) 11-12]
a) Ashes were burnt by the hut b) Fire burned the hut to ashes
¢) Fire burnt the hut to ashes d) Fire turned the hut to ashes Ans:c
154. Rome was not built in a day. (Active) [TU (C) 10-11, 587 fors frag-34)
a) The Romans did not build Rome in a day AV: @ 3 90T 1Te St
b) People were not build Rome in a day
©) The Romans were not build Rome in a day d) A day was not built by Rome Ans:a
I shall be obliged to go. (Change the voice. ) JUIBA 10-11, NSTU C 16-17, KU (Law) 16-17]
a) Circumstances will oblige me to go. b) I will be my obligation to go.
¢) It will oblige me to go. d) Obligation will make me go. Ans:a

155.

SIS b1Afs FHGT Passive voice @ Active voice @5 Subject +verb S#fiifss
m Love, désire, —WiSh, like, want + object + Infinitive 11@ Active & Passive @ 197
Passive 4 subject, verb w=faaf$w® AitF + infinitive @7 *tzg object 9T + to be + V3
Active : Subject + want---desire + indirect object (JfE=15=F) + infinitive (to +base form) +
direct object (3EaI5s) {I want him to write the letter.}
Passive: {Subject +verb w#ft’f®®} + direct object (IFAS) +to be +infinitive 47 verb @& V3 +
by + indirect object (If&A<) {1 want the letter to be written (by him)}

156. He wants me to do the work. Which is the correct passive form? [RU 09-10]
a) The work is wanted by him to do. b) I am wanted to do the work by him.
c¢) He wants the work to be done by me.  d) I am to do the work is waned by him. Ans:c
Agree/be anxious/arrange/determine/be determined/decide/demand + infinitive
+object T% active voice (& passive voice T i fFpe:
Active : Subject +agree ----decide/demand + infinitive + object
Passive : {Subject +verb wf#f&e}+ (that) + object+ should be + infinitive @3 verb «3 V;
Source: A practical English Grammar A.J. Thomson & A.V.Martinet 30.The Passive voice page -264
Agree, decide €717 + infinitive @7 passive voice 5 w¥s it Ifwns T 7w |
Practical English Usage (Oxford) ~Michael Swan 417. infinitive objects: they decided S RIR T |
157. Choose the active form of the sentence 'It was decided by him to sell the house'.

a) He decided to sell the house. b) He has decided to sell the house. [IU (C) 14-15]

¢) It was decided to sell the house. d) He decided it to sell the house. Ans:a

: 7
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158. He decided to sell the house. The best passive will be- [Medical 04-05, IU (C) 163

a) It was decided by him to sell the house. ;b) He dcc?dcd that the house -shalll ll?e sold,
¢) He decided that the house is sold. d) He decided that the house is selling. - Apg,,

159. He decided to leave the job. Which one is the correct passive? [RU (rarer) 09-10)

a) The job was decided to be left him. o1 mg%fﬁ: Ty

b) He decided the job to be left. G 7eaes foey

¢) He decided the job should be left.

d) The job should be left was decided by him. Ans:c
160. He decided to sell the house. (Make it passive) [KU 05-06, CU (%) 05-0¢,

a) He told that the house is sold G T TETE T .0y)

b) He wanted that the house should be sold.

¢) He decided that the house may be sold by him Ansd

s:

d) He decided that the house should be sold . .
Source: A practical English Grammar A.J.Thomson & A.V.Martinet 30.The Passive voice page -264

Advise/ insist/ propose/recommend/suggest + gerund + object I active voice & ‘
passive voice 377 {Ewie fywer: :

Active : Subject + Advise -------- /suggest + gerund + object

Passive : {Subject +verb wefFIfe®} + that + object+ should be + gerund @3 V;

Active : He advised cancelling the meeting.

Passive : He advised that the meeting should be cancelled.

161. He suggested that smoking should be given up. [KU (BBA) 13-14]“
a) He suggested giving up smoking. b) He has suggested giving up smoking.
¢) He had suggested giving up smoking.  d) None of these Ans:a

162. Father advised giving up bad habits. (Identify the correct passive form) [TU (B) 13-14]
a) Bad habits are advised to give up by father
b) Father advised that bad habits should be given up
€) Bad habits should be given up by father
d) Bad habits are advised to be given up by father Ans:b
163. Identify the correct passive form of — He recommended using bulletproof jacket.

a) He recommended that bulletproof jacket should be used — -
b) Bulletproof jacket should be used recommended, EEGOE] ;n:::: SRR-0b
¢) He recommended for the use of bulletproof jacket. Ans:a |

d) Use of bulletproof Jjacket was recommended by him,
Source: A Xrac-tical English Grammar A.J. Thomson & A.V. Martinet 30, The Passive voice page -264
P Su;;;zet:+SI|:ll:Jict + ]lke/remember/hfj!'e/mind +obj; + (verb +ing) + obj, + extension.
e L de remembcr/ﬁate/~ tbeing + (verb +ing) @ past participle + extension.
o) I remp n ])‘?()p]e lfe(fpmg me waiting, PV; | hate/don't mind being kept waiting.

: my sister taking me (¢ the museum, [Fre13 3 S e (IReITE)-34)

a) I membe] J Wr 3 l' y . »

eum by my sister.
©) I remember taken to the museum b oy CU (B) 14.13]
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165. The passive form of

‘1 don*t |E;ﬁooplc telling me what to do’ (KU (er#p1 1) 09-10]

R) 1 don't like being told what to do

A W fa PACT A
b) 1 don't I'\kc people being told what to do. O P SRR VIV
&) 1 don’t like people are told what to do. wifir ot g™ Bl A
fl) People are not liked by me to telling me what to do. Ans:a

| Active € Subject @ Obj, @33 aifs 2 Passive @ Subject woifaafés earata Obj, s nw | BT

B mStlb_icctﬁmﬁW%mm | ¢ 3ftw oraura speamt 3 fasta me ¢ Sfyer fes 764
| TR Active @ people 91T Passive @ st 825 1w |

‘ lmcrmcdl.atc E.nglish Grammar -Raymond Murphy (Unit 44) page -88 4 Swrzact 9f6 873 0777 |
166. He is said to be very rich. (Make it active)

a) He said he is very rich.
) He said it is very rich.

[arTCaT Senasi3era-a]
b) People say he is very rich.
d) Pecople say it is very rich. Ans:b

Make it passive: ‘They said he is a good candidate’ [eret apies for, s (F01)-3v ]
a) He was said to be a good candidate.

b) He was considered to be a good candidate.

¢) It was said by them that he is to be a good candidate.

d) He was believed by them as a good candidate.
'Active: People/They say + Subject + be verb + complement (People say he is a fool)
' Passive: Sub + be verb + said + to be/to have been + complement (He is said to be a fool)
'Or: 1t is said that + subject + be verb + complement (It is said that he is a fool)
RIS Toste Jfees Fme voice SITe (ROt A (T FECT o1y 1 o1 T4E F40% T |

168. ‘He died of fever®’ Passive form is — [RU 08-09, S 3z o foro fruws w0, are-amfi
szae ferme (WAER)-d9, JUST (F, Tfden) 15-16, 1U (B) [7-18]

167.

Ans:a

'a) Fever caused his to die. b) Fever caused him to death.

¢) He was caused to die of fever. d) His death was caused with fever. Ans:c
169. He worked for an hour. (Make it passive) [ #fie srgerdt #fvw-5¢, BSMRSTU E 19-20]

h) An hour was worked for by him. b) He was in the work for an hour. Ans:d

) An hour was passed by him in the work. d) An hour was spent by him in working.
170. “I have a cat.” Make it passive. (4l voice «¥ fmfYers i W Reesam 8ew) [COU C 15-16]

@) A cat is being had by me b) A cat is has been had by me

¢) A cat have been had by me d) A cat is had by me Ans:d
171. Change the voice: I have a red cat, (4 voice 99 Fravfers o1 s+r Rewsm 8ew) (1U G 13-14)

@) A red cat is possessed by me. b) A red cat has been had by me.

¢€) A red cat belongs 1o me¢ by me. d) A red cat is to be had by me. Ans:a

@16 AwAwe @4l g «1 4641 have, resemble ATAE passive TIQE TW A1 IR passive FAE FIFRS 1]
172. The passive form of the sentence ‘1 am sorry to disturb yow’ —

[KU 06-07)
#) | am sorry to be disturbed by you. b) You are sorry to be disturbed by me
¢) | am sorry to have disturbed you. d) I am disturbed by your sorrow. Ans:c
173. Change the voice: 'Let us go, you and I' [SUST B 05-06, BRUR B 16-17]
@) Let you and | be gone. b) Let’s you and I are gone. o Rcasam
g) You and I should go now. d) Let’s go then, should we? Ans:a
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| @R owm Passive Sentence TR i

3. Action Doer Wit =t QRFet Wt SRS 201 - Those fine textile materials are made i Ini;~
. Doer W&(® e - They were attacked on the w
©.Doer sFg1f T 7wt - Ram was told that his En

ay. Everything was ruined. p
glish was not satisfactory for college Work.

8. Action receiver 3t getet N Sow ot caraiioeT -

@. R, sy, oottt et - Passengers

A man was knocked down by a lorry here,
are requested not to smoke on the bus,

®. TR cevittam ReeHt qaite - Dhaka was |

. R ¢ SRR oFE TTT - Americ

ashed by a thunder shower on F riday morning,
a was discovered by Columbus.

b, IS O W RCT - The meeting w

». WERF I - I

nd petrol is

as postponed.
an internal-combustion engine the mixture of air a
compressed in the cylinder by a piston.
174. When should we use the passive sentence?
a) When the doer is less important.
¢) When the subject is very short.

— |
, [JnU (B) 13-14)
b) When the doer is more important.

d) When we use an informal style  Ans:a
175. The active form of the sentence ‘That house was built ten years ago.’ is
a) Someone built the house ten years ago. AT 7t TP
b) We had built the house ten years ago.

TGS TIeTea-3s
¢) Somebody had built the house ten years ago.

d) They built the house ten years ago.

Ans:a
176. The correct passive form of the sentence “I saw him fall from the tree” is-
2) He was seen by me to fall from the tree.

ergfa eef G
b) The tree was seen to fal] by me. TITIET TG3-35
¢) He was seen to fall from the tree by me.

d) He was seen falling from the tree by me. Ans:c
177. 1 saw him play. (Passive)

1
{

[>uT ferws fRa-3»)]

a) He was seen by me play. b) Play was seen him by me.

€) He was seen playing by me. d) He was seen to play by me. Ans:d
178. What is the correct passive form of ‘I saw him go to the garden? [NSI 93 gfFm

2) He was seen go to the garden  b) He was seen to go to the garden firs WipoTra-33]

) He went to the garden was seen d) He was been seen to £0 to the garden Ans:b
179. What is the correct active voice of the sentence: (St g wiwaras Swar serdl-5]

Why is a noise made?

) Why do they make a noise? b) Why has a noise made?

€) Why is made a noise them? d) Why they are making a noise? Ans:a

180. Passive form of “Who spoke it’?

[Tes sgeieTea st et sy St womabe-3s]
a) It was spoken by whom?

b) By whom was it spoken?

| €) By whom it has spoken? d) By whom it was spoken? Ans:b
=/ 181. The unfed should be fed. (Active) [sex fépwa fae (2)-33]
a) Feed the unfed. b) We should feed the unfed.
€) Please feed the unfed. d) They should be feeding the unfed Ans:b
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189.

190.

191, °

192.

. Change into active form: RIES ﬂwfw 'tal'm (uﬁmm-: :

e A o S T it

< ‘\““m‘ the volee “One shoulil road only what one Hkes.” [ 1 TSI (B WAICATA. 5]

n) What one likes shonld be read only, 1) What one ikes should read only,

8 What one likes shonld have read oily, — d) None ol the the nbove Ansia

Choose the passive steactinee Uiy comment sur prised me’.|Ats wwetena aifsors dee)gn)
Y L wan sueprised by his comment, ) | was surprised at his comment,

©) L was suprised for his comiment, ) | was surprised to his comment. Ans:b

- Choose (he npproprinte passive form of (he sentence: [DBEZA @ st aagins. sy |

Salinn was stitehing n pant,

W) A pant was being atiteh by Salina, ) A pant hay been made by Salina,  Ans:d
€ A pant was stitehed by Suling, d) A pant wag being stitched by Salina.
*Nobody belleves o Une® 'The correct passive volee form of the ahove sentence is :

) A liar s never believed by anyone, _ AN GG BT
B A Biae should not be believed by anybody, Brerbin R @B (f5e)-sy
©) A liar is not believed by anybody, SiEan e
d) A liae is believed by nobody, i :

The passive form of the sentence *His sudden duntll sllmkcd me’ i‘i~
) 1 was shocked by his sudden death, ot
b) 1 was shocked to his sudden death,

) | was shocked to know his sudden death,
d) 1 was shocked at his sudden death.

?f',
‘L was surprised to see that he had been beaten black and bluc |
2) 1 was sur prised to see that he has been beaten bldck and blu ;
h) It surprised me to see that he had been beaten black and blue.
c) 1t was surprising that he had been beaten black and blue
d) That he had been beaten black and blue was surpnsmg
‘Do you sce the flower?’ [fafr{ﬁmma‘ﬂmﬁr st (s
Identify the correct passive form of the above sentence
n) Is the flower was scen by you? h) Is the flower bemg seen by you?
¢) Has the flower seen by you? d) Is the flower seen by you'
The correcet passive form of the sentence:
They elected him captain.
n) He is LlthLd cnplam by lhun

a) l.(.l the dnm be clobcd
¢) The door is to be closed. 0
Chun;,,c the voice, “Please kccp quict” [Evmsmt c'*nu

;.) You are ue,ku] to lu.cp quiet d) You are tuld't kcep u
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193. The passive form of ‘Don’t waste your time’ fs- 4 Wwastcd [RUW%]
,H)' Let your time be not wasted 3) Let your tlmii?noct b:: wasted E‘j\ 7.

€) Let your time be wasted. d) Let not your ' nsq
yassive form is : [fafsy At STz it

I94. He was helping me. The correct |
a) I was helped by him

©) I have been helped by him -
195. Change into passive : ‘The trainer walked the horse after the race.

b) 1 had been helped by him
d) T was being helped by him Ay

a) The horse was walked after the race by the trainer. AT TN Wiy g,
b) After the race, the horse walked by the trainer. [RU () 09-10, IU (G) 11. 2
€) The trainer walked the horse by the race.

V Ans:,

d) The horse was walked the trainer after the race. . &
196. The correct passive form of the sentence ‘We don’t respect dishonest people’ is-

51) We are not respected by dishonest people. G T ST A gq
b) Dishonest people are not of our liking. i first Sfiverss Romase.y,

¢) Dishonest people are not respected by us.
d) Dishonest people are not like us. Ansc

197. Let me do the sum. Passive of it is -
[J1 sifie-su, 0o, o}, AU TR e FTer-08, JU (E) 14-15, Sy LT e (4F5059)-3y]

?) Let the sum is to be done by meb) Let the sum done by me.
c) Let the sum being done by me. d) Let the sum be done by me.

198. Identify the right passive voice of ‘It is impossible to do this’.
[e Tt “Afimf-3v, 38" BCS, 1y Simer aie Seaidfl-2s, S ¢ IRt sRmat-20]

Ans:d

a) Doing this is impossible b) This is impossible to be done

¢) This is must be done d) This can’t be done Ans:b
199. “It cannot be done.” The active voice form is- [t $R 1 SRETR (I7)-39)]

a) No one can do it. b) We cannot do it.

¢) It is impossible to do it. d) Most people cannot do it Ans:a
200. What cannot be cured must be endured. (Active) [>8°Y sz i (3)-34]

a) We must be endured what we cannot cure.

b) We cannot cure what must endure.

€) Must be endure can cure.

d) We must endure what we cannot cure. Ans:d
201. I helped her solve the problem, (Passive) [38©Y firss faFa-34]

a) She was helped to solve the problem,

b) The problem was solved by me,

¢) Her problem was solved by me,

d) She was helped to solve the problem by me, Ans:d

202. The passive form of the sentence ‘He saw me do it’ is-  [Rfeq waetrerrr Sor-reard ecmi-34]
P) I was seen dolxt b?/ him b) I was seen to do it by him

%I was seen d'omg it by him d) I was seen to doing it by him Ans:b

203. : ‘;ver tell a lu.e The passive form_?i' this sentence is [FfeR TaeteTeas Setredt

g))Let never a lie be told b) Let not a lie never be told TP (FifSeT)-5 4]

) Let a lie never be told d) Let lie never be told Ans:a
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204. ‘Never tell a lie.’ I Passive form TI-  [enfie g s (@dE)-3, JKKNIU D 18-19]

5)‘, Let not a lie ever be told, b) Let a lie never be told.

c) Let a lie not ever be told. d) Let never be told a lie. Ans:a
205. ‘Do you know him?’ rmfSx passive form T3- [#1} B TO6a 7% AT 1-SEE-34]

55 Is he known by you? b) Is he known to you? O ST (APBTeT WAHTH-3>

©) Does he known by you? d) Is he known with you? Ans:b
206. Do you find your payment too little? (Passive) [yowx firss -]

;;) Is your payment found too little to you?
_) Are your payment found too little to you?
[c) Are your payment found too little by you?
d) Is your payment found too little by you? Ansd
The passive form of the sentence, ‘Some children are helping the wounded man’.
(TS T R A5-00, erprfie wied (°rA1B)-08, W63, TR e s fRaares siem-ys, dnfie 7z
P (0omm- S0, CU (E) 13-14, 0TS 9.3, e sl firses (38 M)-3v]
a The wounded man was helped by some children.
b) The wounded man was helping by some children.
E)_ The wounded man was to be helped by some children.
d) The wounded man is being helped by some children. Ans:d
208. He is going to give me a prize. (Make it passive) [ anafirs s e (Ruafe we)-3]
a)lam going to give a prize by him
b) I am gone to give a prize by him
o) I was going to be given a prize by him

207.

d) [ am going to be given a prize by him Ans:d
209. What is the active voice of ‘The gate was opened by the peon.’? [szzd st st g)

a) The peon opened the gate. b) The peon had opened the gate.

¢) The peon has opened the gate. d) The peon opens the gate. Ans:a
210. The correct passive form of the sentence “they laugh at us” is- [ ersrr fae-so]

a) We are laugh at them b) We are laughed at with them

¢) We are laughed by them d) We are laughed at by them Ans:d
211. The correct passive of ‘Sheila was writing a letter.’ is — [PSCa7 ez Afastera-ov,

BSMRSTU (F) 14-15, Swrgy Q=11 wmeta So-siear aramer (ffe)-se, TR MG TZF FerEe-3s)

é) A letter was writing by Sheila. b) A letter was being written by Sheila.

¢) A letter was being writing by Sheila.  d) A letter was been written by Sheila. Ans:b
212. 'He taught me to read Arabic' q56% passive form 23- [&r-amafae Az forss-33, su)

a) I was taught by him to read Arabic b) I have been taught by him to read Arabic

¢) I had been taught by him to read Arabic d) I was being taught to read Arabic Ans:a
213. What is the passive form of '"He made me drive his car'?[amfi= firsz-30, BRUR (B) 14-15]

a) I was made drive his car by him. b) I was made to drive his car by him.

¢) I was made driven his car by him. d) I am made to drive his car by him. Ans:b
214. The passive voice of ""Who has broken the glass?"  [(JnU (E) 14-15, saow eroree frawe-3¢)

a) Who was broken the glass? b) By whom was the glass broken? ~ Ans:d

@) By whom has the glass broken? d) By whom has the glass been broken?
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215.

216.

219,

? 1§— TR
The passive form.of the sentence ‘Do not laugh at the poor” is Wm

‘Q‘]
, b) Let not the poor be laughed at,

5 Let the poor be not laughed at. D, be laugh at.

©) Let the poor be not laugh at. d) Let not the poor & Ang

] .
The passive voice of the sentence 'We mgde her recite a poem .[F’fawﬁra mwﬁq
. b) she was made to recite a poem

em was made recite by her .
5 a poem w d) a poem was made to be recited Ang} |

©) she was made recited a poem

- Did the boy catch the bird? The best passive form is-[a} saeza mm(mw]

&) Was the bird caught by the boy? .b) Was thc'blf d being caught by the boy?

6) Is the bird caught by the boy? d) Has the bird been caught by the boy? Ang;;
: Passivc form of it is *‘BBC broadcast the news.’ is - [t FrFs-sb, RU (EI) 17-13)

E} The news are broadcasted by BBC b) The news are broadcast by BBC

&) The news is broadcast by BBC d) The news was broadcast by BBC Ans:q

“Who broke the pencil?” What is the passive form of this sentence? [ﬁmﬁmwﬁmog]

a) By whom the pencil was broken? b) By whom was the pencil broken?

©) The pencil was broken by whom? d) Who was broken the pencil? Ans:b
- 'Let the book be read by you' T Active form o= [Ar-2mafrs Tz .y

a) Read the book b) You are to read the book

©) Let the book read by you. d) Let the book be reading by you. Ans:a
- "Who will help you?' I 3T *F—RES Voice T3- [eF-emfars srzrdt ferses (CRITN)-30]

a) By whom will you be helped? b) By whom you will be helped?

€) By whom would you be helped? d) By whom will be you helped? Ans:a

. Choose the correct sentence.  [# Sy QT o5 T30, -2 ST s (" X®)-38)

223.

224,

225,

226.

‘¢ T=e Active form z05z: We informed the police of the matter. [the police T plural] }

He did not tell the dangerous secret to anybody, [ww‘rmmamﬁﬁﬁmosl
a) The dangerous secret was not told to anybody by him, [JnU (C) 17-18]
b) The dangerous secret Wwas not told to him by anybody.

€) The dangerous secret was told not him to anybody. .

d) Anybody was not told about the dangeroys secret by him, Ans:a
Give the correct Passive form ; We insist on punctuality in thjs office.
a) Punctuality is insisted on in this office
b) Punctuality be insisted in this office

[1U (B) 16-17]
[DU (C) 16-17]

IR A A BT-0b
€) Punctuality should be insisted in this office

d) Punctuality is to be insisted on in thig office Ans:a
'Which one is the correct passiye? [Pt wfies wwrdt o (Rezafer we)-03]
,') By whom it is painted? b) By whom it is painted with?

€) Who was it painted by? d) With whom it js painted by? Ans:c

Which one is the correct passive form of the speech? [Sicewett/armr firsst Wi (ATEO)-33]
'Don.t take the fﬂrget me not, [forgc[ me not XL ey AT oy faf*® WWJ
8) Forget me not be taken by you b) Let not the forget me not be taken by you

€) Let never taken the forget me not d) Let not taken by you the forget me not Ans:b
——— 101 Let not
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227. Who is calling me? If7 passive form 3@- i el s (PR fent)-0q)

#) By whom I am called? b) By whom I am being called?

) By whom am I being called? d) By whom have I been called? Ans:c
228. Choose the passive form of “Buy me a shirt”- [a7 ereme= -3y, IU (C) 16-17)

h) Let a shirt be bought b) Let a shirt be bought for me.

p) Let bought a shirt for me d) Let buy a shirt for me. Ans:b
229. The passive voice of ‘I know him’ js - % RS (rEe Wt e- s

U (C8) 15-16, 1U (A) 16-17, RU (C) 16-17, JKKNIU B 18-19, i Agerd frws (5T *1fw)-55)

l) He was known to me. B) He is known to me.

©) I was known to him. d) He known to me. Ans:b
230. The passive form of “Who did it?” is: [FrreeRt Afive SrsgwEs-o¢, RU A 16-17, G-1 17-18)

a) By whom had it been done? b) By whom was it done?

€) Who is it done by? d) By whom has it been done? Ans:b
231. He has a cow. The best passive form is- [T WEereTTE WA TSI AfsEE-o8, do]

E) A cow is had by him b) A cow is have by him AATS passive T T |

©) A cow has been by him d) A cow have been by him Ans:a
232. '"What is wanted by him?' I3 %% Voice T3- [er-amafie 2wt forsss (30%9)-d0)

a) What do he want? b) What did he want?

©) What does he want? d) What is he wants? Ans:c
233. Change the voice of the following sentence. [ T Sfmeces s At -0

234.

235.

236.

237.

238.

“I was brightly addressed by her”.
a) She addressed me brightly. b) She has addressed me brightly.

c) She addresses me brightly. d) I was addressed by her brightly. Ans:a
Let us write a letter. a¥0a Passive form @3- [en: aw R0, i SR St srREs-o)
59 Let a letter to write by us b) Let a letter be wrote by us =gy wfwer =it smrs-sb
p) Let a letter be written by us d) Let a letter written by us Ans:c
"You will be helped by me?' qiter% “ff3f¥® voice TR-[mrofie/ow mofis sfvs Ro e _30]
a) I shall help you. b) I must help you

;:) I shall have helped you d) I should help you Ans:a
'Am I wanted by you' I== Actlve form = [e-eimefirs s frwss (erfemm)-»a,
;i) Did you want me? ) b) Do you want me? (o, Meersmm)-so]
¢) Are you wanted me? g) Have you wanted me? Ans:b
‘The teacher will be teaching us.’ 37 Passive form T3 [emfis e fres-ov (B1R))
'a) We shall be taught by the teacher. teach (CRIEA)- taught- taught

b) We will be taught by the teacher.
¢) We shall be being taught by the teacher.

d) We will be being taught by the teacher. Ansee
The correct passive voice of “Karim told Rahim to give up smoking.” is- = frswr
a) Rahim was told to give up smoking. CoBTeT TR =35

b) Karim was told to give up smoking.
¢) Rahim is told to give up smoking. .
d) Karim requested Rahim to give up smoking. Ans:a
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— e m wil be- -
The passive form wil be ——— =

D .l ht : A feh 1€ (ane ) I ‘ L'J
330, o feaches us l,nglll'l‘ B 16 i b) English is taught l!h by him | §)
f) English was la;lgll u; b)-’ him ) English was teaching us by him An
a . . ~acitl ~ ‘ence ;
&) English is tc 11:‘ L‘t f,assi\'c form of the sentence, [*fa wfigmazy T2 Ao o foomg %S-b
240. Choose the cot for doing the job? (IS0t 1 ooy S (S f& m?) 0]

"What did they pay You . %
"‘:;at had you been paid for doing the job?

re paid for doing the job?
) What you were pat ] .
g What were you paid for doing the. job? :
#) What were you being paid for doing the job?

241. Which one is the correct passive of the sentence-‘|e Satisfied ¢verybody’? e
B Everybody has been satisfied by him [39% errrs e
B) Everybody was satisfied by him b
' Everybody was satisfied with him
@ Everybody would be satisfied at him Ansec
242. “The sudden noise frightened the horse.” Wwﬁmm
Which is the correct Passive form of the sentence? TAGETS o8 0g
&) The sudden horse frightened by the nojge.
B) The noise frightened the horse suddenly.
8 The horse frightened the nojse suddenly.
The horse was frightened by the sudden noise. Ans:d
243. Choose the correct passive form of “Who will Pay him?” [ AT T o)
8 Who will be paid him? b) Who would be paid him? IU (G) 16-17
8 By whom he will be paid? d) By whom will he be paid? Ans:d

244. Change into passive: Who is creating this mess? (v o3 e 52 FARY?)
| UnU (C) 16-17, 1U (G) 17-18, eirefirs stsidy fopras (T *1fm)-s, ﬁmﬁmmwm-w
Who has been created this mess? b) By whom has this mess been created?
By whom this mess is being created? d) By whom is this mess being created? Ans:d
245, The correct active form of the sentence “Health should be taken care of” is-
We should take care of one’s health (5 ereres fRF-30]
) One should take care of one’s health
We should take care of ones health
We must take care of our health Ans:b
246. Change the form of voice, ‘He did not give up the fight even though he was badly
bruised. : [DU (B) 18-19]
2) The fight did not give up by him even though he was badly bruised,
b) The fight had not given up by him even though he was badly bruised.
) The fight was not given up by him even though he was badly bruised,

h) The fight was not giving up by him even though he was badly bruised. Ans:C
247, The péssive form of “Who killed the bird” js— [RU (A) 18-19]
) Who was killed the bird? b) By whom the bird was killed?
) 8 Who was the bird killed by? ) By Whom was killed the bird? AnsicC
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248. ‘Shubho ate four pieces of Hilsha fish at dinner. The passive form of the senteaee is
a) Four pieces of Hilsha fish at dinner were ate by Shubho. -

b) At dinner four pieces of Hilsha fish Shubho ate. ‘ DU B 19-20]
¢) Four picces of Hilsha fish were cating by Shubho at dinner.
d) Four pieces of Hilsha fish at dinner were caten by Shubho. Ans:d
249. Passive voice of ‘Whom were you calling?” is- _ [RU (E1) 18-19]
) Who called by you? i}i Who was being called by you?
€) Who are you called? d) Who were you being called? _Ans:b
250. Itis time to stop the shop. (Choose the passive form) [RU (E2) 18-19]

a) [tis time for the shop to be stopped.
b) It is time for the shop to stop.

©) It is time that the shop should be stopped.

d) It is time that the shop should be stopped. Ans:a

251. The cat is running after the rat, (Choose the correct passive form) [RU (D) I7-18}
a) The rat was being run after by the cat.
b) The rat is being run after by the cat. Sl e U g
¢) The rat is run after by the cat. d) The cat is being run after by the rat . AﬂSb :
252. The passive voice of “Mend your ways.” is: T {RL (42} 17 ’S‘
a) Let you be mended your ways. b) Your ways should be mendeci ‘

¢) Your ways are mended by you. d) Let your ways are mended.

233. The passive form of “Who killed the bird?® is: g
a) By whom the bird was killed?- ._l Who was the b1rd Lﬂled bv‘?
Q Who was killed by.the bird? @) The bird was killed: by ‘hom
; The active form of “He is called a gemus” is:

ey c)A gemus calls hnn everybody J A qemus callsf ]
255. The active. form of “He is called a gemus” Is- ‘
i 5 People call him a gemus
g) Do the call hlm a genius:
Passxve voice of ‘We called hlm a fool’ is-

’ _g) He Has called a fool by us

1 Passive form of ‘He is going to buya car 1s-
: ) A car will be gone to be bought by h1m

' b) A car is gone to be bought by him. "~

s @) A car will be gone to buy by him

d) A car is going to be bought by him

258, “Who has drafted this letter?” Passive form of tins senten

a) Who the letter has been drafted?

b) Whom has the letter been drafted?

c) By whom the letter has been drafted?
d) By whom has the letter been drafted?
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259. What is the passive voice of ‘The seat fel{)g;lﬂ; B i’i:?"wlﬂa' nnWT: b UG ]0‘“]
a) The seat is warm when it is felt. b) The s

d) is felt warm.

) The seat was warm when it was felt. @) The:eatis i R
260. %’%’hich one is the passive voice form of.‘Wl]gm is he tea:hltng (h;:?OGg; 3l;hyh?[;1UK17_1;

8) Who is being taught Geography by hlm?))) Is.somebo l)lf Cz;ug ‘ g aphy’ i

ﬁ Who is teaching Geography? d) Did he teach\rcography 5
261. The critic wrote a scathing review. (Change the voice.) [nU () 1748]

B) A review was written with the critic.

b) A scathing review written by the critic. N

A scathing review written and viewed by the critic.

d) A scathing review was written by the critic. . Ang
262. We ought to have saved our environment. (Change the voice) [nU (C) 171y

a) Our environment ought to have been saved.

b) Our environment ought to have been save.
¢) Our environment ought to had been saved.

Ei) Our environment ought to have saved.

Ans;,
263. Choose the correct passive form of the statement :
She does not like eating too much. [JnU (B) 16-17]
5) She does not like to have eaten too much.
j Eating too much is not liked by her.
é) Too much eating is not too be liked by her.
d) Eating is not liked much too by her. Ans:b
264. Select the wrong sentence : U (E) 17-18]
‘é) Honey is sweet when it is tasted b) Honey is tasted sweet, be bought 7@
E) Rice is sold cheap. d) Let a shirt bought for me, Ans:d

265. By whom are you taught English? (Make it active).
a) Who teaches you English? b) English is taught by whom?
€) Who taught you English? d) Who teach you English?

[BSMRSTU (F) 17-18]

Ans:a

266. rWhich of the following sentenceslgannot be turned into Passive form?[cou (B) 16-17]

a) He takes exercise regularly. b) Open the door,

) They are going to market. d) He handed her a book. Ans:c
267. §moke ﬁlled.the room.. (passive) | [BRUR B 16-17]

Ia) The room is filled with smoke b) The room was filled by smoke

€) The room was filled at smoke  d) The room wag filled with smoke Ans:d
268. : I was obhged to do it.’ T.he active form of this sentence above s - (U (B) 15-16]

a) They obliged me to do it l)) Circumstances obliged me to do it

€) Someone obliged me to do j H) both a and p Ans:b
269. English is spoken aJ] over the wo ;

rld. (Active Voice)

a) The world speaks English al] oyer.

b) The English speak English a]| over the world.

¢) People speak English a]| over the worlqd.

d) All over the world the English speak the English, Ans:c
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270. Your blame counts for nothing. The passive form of the sentence [IU D 05-06, B 15-16]
f) For nothing your blame is counted.
b) Your blame is worth nothing when it is counted. Applied English Grammar-
;‘\’our blame is nothing when it is counted, by P.C. Das %t Voice =e (3
) For nothing worth your blame was counted, Ans:b
271. Choose the correct passive form of the sentence. [SUST (Al) 14-15]
He knew that his own life was unjust.
h)‘_‘ It was known that his own life was unjust.
b) It was known to him that he was in a unjust life of his own.
©) It was known that it was unjust his own life,
b) 1t was known to him that his own life was unjust. Ans:d
. A cat was stalking a bird in my garden. The passive form: [JU (IBA)11-12, KU (B) 14-15]
E;) A bird was being stalking by a cat in my garden
b) A bird was stalked by a cat in my garden
i:) In my garden a bird was stalked by a cat
d) A bird was being stalked by a cat in my garden Ans:d
. The active form of 'Why wasn't the matter brought to my notice?'
;a) Why didn't you bring the matter to my notice?
b) Why you did not bring the matter to my notice?
¢) Why don't you bring the matter to my notice?
d) Why is the matter not brought to my notice?
. Active voice of “Didn’t she know anything about the Sundarbans?”
a) Was nothing about Sundarbans known to her?
i)) Was anything about the Sundarbans known by her?
cj Was she not known anything about the Sundarbans?
d) Was the Sundarbans known by her? Ans:a
275. She plucked some flowers. The passive form is: [RU (A, fatame) 16-17]
ra) Some flowers are plucked by her. b) Some flowers were plucked by her.

[JnU (B) 11-12]

Ans:a
[JnU (D) 11-12]

rg) She was plucked some flowers. H) Some flowers had been plucked by her. Ans:b
276. The correct active form of “I was deceived by the stranger” is — [BRUR (C) 12-13
{a) The stranger deceives me. b) The stranger has deceived me. RU 09-10]
I(_:) The stranger had deceived me. d) The stranger deceived me. Ans:d

277. The correct passive form of “We do not hate the poor”
a) The poor are not hated by us. b) The poor is not hated by us.
¢) We are not hated by the poor.  d) The poor is not done to be hated by us Ans:a
278. Fire burnt the ship. Make it passivg. [IU (D) 14-15]
ra) The ship was burnt by fire b) The ship was burnt

[MBSTU (A) 14-15]

¢) The ship was burnt with fire d) The ship was burnt to fire Ans:b
279. Choose active voice of 'Who was helped by you?' [IU (C) 14-15]

a) Who was helped by you? p): Who did help you?

¢) Whom did you help? d) Who helped you? Ans:c
280. Don’t laugh at me. (Choose the p_as!sivc form) [RU (D) 17-18]

a) Let me be laughed at. b)7 Let me be not laughed at.

c) I am laughed at d) Let me be not laughed Ans:b
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281. ‘Who gave this book to you?’ The passive form is -- (U (C) 15.
5’5 Whom was this book given to you? b) By whom was this book given to yoy9
€) To whom was this book given to you? d) None Ang|

282. The passive form of "Who gave you the pen?' [RU (A) 13.14
a) By whom you were given the pen? b) Who were given you the pen? Ango
0) By whom were you given the pen? d) By whom the pen was given to you? ;

283. Choose the correct passive voice of 'Whom did you know there?’ [1U(C) 14.15)
Ej Who was known to you there? i)) By whom you knew there?

E) To whom you know there? ﬂ) Who was known by you there? Ans

284. Change the active voice into passive. ‘I am to make a telephone call.” [JnU (D) 16-17]
h) A telephone call is to be made by me b) A telephone call is to making by me
c) A telephone call will to make by me d) A telephone call will made by me  Ans:a

285. The correct passive voice of: I know what he thinks. [1U (B) 09-10]
%!) What he think was know to me. b) What he thinks was know to me.
¢) What he thinks is known to me. d) He think what is know to me. Ans:c

286. 'I was compelled to do it' -Active voice of this sentence is - [CUF 13-14]
a) Circumstances compelled me to do it. b) Compelled to do.

0) Compelling easy but difficult to do d) He was compelled Ans:a

287. The passive of "The news shocked him." [IU (D) 13-14]
a) He was shocked by the news. b) He was shocked at the news.

k:) He was shocked with the news. d) He was shocked on the news. Ans:b

288. Change the voice of the sentence: “He does not like people laughing at him”.

a) People laughing at him are not liked by him. [DU D 20-21]
b) He does not like being laughed at.

¢) To be laughed at by people are not like by him.

d) He does not like him being laughed at by people. Ans:b

Ref:

289.

Intermediate English Grammar —Raymond Murphy (Unit 44) page -88 9 737 |

Change the voice: ‘Nobody trusts a traitor.’ [43™ BCS]
a) A traitor is trusted. b) A traitor should not be trusted.
¢) Everybody hates a traitor. d) A traitor is not trusted by anybody. Ans:d

Imperative sentence @ verb + double object @ 31t Please/Kindly 2wt Please/Kindly

«7 #f@are You are requested to BIUe may 42E Fd8 FEresim passive voice 1 7 |

Active voice Please/Kindly grant me two days’ leave. B ]
Passive voice 1 : May I please/kindly be granted two days’ leave?

Passive voice 2 : May two days’ leave please/kindly be granted (to) me?

Passive voice 3 : [ may please/kindly be granted two days’ leave.

Passive voice 4 :
290. Please grant me two days’ leave. Make it passive,

291.

Two days’ leave may please/kindly be granted (to) me.

» [NU (i) 11-12, RU Al 20-21]
P) Let me be granted two days’ leave. b) Let me two days’ leave be granted me.

€) May I please be granted two days’ leave? d) [ may be granted two days’ leave. Ans:C
Change the voice: Kindly grant me two days’ leave. [COU (B) 08-09]
;h) May I'kindly be granted two days’ leave? b) Let me be granted two days’ leave.

€) Let two days’ leave be granted to me.  d) Two days’ leave is requested to me. Ans:a
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